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L. Graph each of the following equations.
a.(x+2) =-8(y-3)

Vertex: ("‘2 ‘3>
Opens: CLOU—? A

Focus: CZT | )

Focal Width: 3

Equation of Directrix: \%‘:; S-

(x+1)" (y-2)°
b. - =
4 9
Center: {\-—- \; 2)
Transverse Axis: Lﬁ
Conjugate Axis: (g

Calculate c:

c=\V13 = 3.0

i

Slopes of Asymptotes: = 3

Vertices: é ?J | g\) (.5 \ Z}
Covertices:(—hg) L*"ﬂ v ﬂ\j

Foci: (L6, &) (Mo &)

Unit 7 Review #2 - Conics

Pre-Calculus 1

= "—’—I _ Hx
/"" $ \\x\
)i
X I
] \
-l b (1,

)




(=3 0+
16 4

C.

Orientation: \(\Cﬁf‘ 52,@5\”11-‘@-(\
Center: (5 ,""};_)

Major Axis Length: 7
Minor Axis Length:

Calculate c:

C:L::. ) (g;‘-‘%

e= =30
Vertices:
(-1,-2) (12
Covertices:

- - "“-\“
(3, O-) Lé/ “ )
Foci: _
(= 5,-2) (b:572)
d. x> +4x+y*—6y-3=0
Complete the Square!

z | 2 ¢ 3 b i i
X +q:{ + LHG -t "}; J‘T»-_ ‘@\F & M\ -, :} e i

%

(DGR + (y-53 =\
(+A* -3 6

Center: (——;2 . :5‘}\)

Radius: L.!

’%Lfg%




e. X +2x+3? —8y+1=0
Complete the Square!
e ol + 2Byl lHrli
XZ#;K +~| + \{ \f:)f-sr—k@ é‘rﬁt to

(X+1)* + V= o

Center: (———-[ i L{)
Radius: IL-'

f (v+1) (x—1)2=1

4 25

Center: (l . |
Transverse Axis: L\

Conjugate Axis: l 0

Calculate c:

=z =54

Slopes of Asymptotes:

t+ L

-5
Vertices: LI ) l} (Kuni\}
Covertices: (‘-L{ lh‘\ K\(Q - ‘!)
Foci: (l \ "“J“X (\ l""%ﬁ‘a)




2. Write the equation for the following circle described.
a. Center is (-—2, 5) and radiig /3 <

(x+a§%é§-5‘“? =3

b. Center at (0, 0) and passes through(——3, 8) .

X“+y* =13

c. The points (0, -6) and(4, 8) are endpoints of the diameter.

f’ e I*?‘Z, ¥ 3_2;,
(X2 +(—)= 53

3. Write the equation for an ellipse with vertices (2, 4) and (2, -6) and minor axis length of 4.

i 2 & |

S ———— et A GO R

4 A5

4. Write the equation for a hyperbola with transverse axis length of 14 and covertices (-1, 2) and (-1, 14).

e

11 K1

5. Write the equation for the parabola with vertex (-4, -9) and focus (-8, -9).

W | )Lz”ﬂ@(‘}.“ﬂ;



